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Exam 4 Feb13,2014 Name: L(&C}M \ ﬂf’“ ; !;EZ {‘\

Open b??k. Show All Work!

A liquor store wants to investigate the relationship between beer sales and bourbon sales. The

manageﬁ has collected the following data. w
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Week| | Beer (x) | Bourbon (y) XQ' | yﬁ | X 7 \ Y CY Q) C)/ ;})’L

1| 1149 89[122020) | 7azi | o228 | 7443 azc | a7,22

2 971 81]a0z5| | ¢5a( {78651 | 74,44 | LE! | 2,29

3| 989 8[975121 | roug 52076 | 7a.u5 |485 | 2060

4 966 71932152 | soys 68586 | 74.5¢0 ‘—8::0 5 B

5 1172 731373584 532Q |75656 |79.09 = 6.0 127,08

6| 1261 70|15q0i21 | Uqoo |ZE270 | 7g.4) |-5,4( (74,94

7] 1288 n2]ieszauy 5154 1A2736 {73, 86 |- €.5¢| uT.08

§] 1109 811957801 6241 |q472( |74, 04|~ D.04] :00\7

9 1366 74 | 1365 956 §5u76 jo 1oR Y é?zl 2ot=4.70 1 55 1y

10 1271 8a|18154ul | 7056 |iggreu |73 3q4511 Se.0F

:IUL 1346 88| 1X11716 | 774 | 154t S }73 _?ugqi;?.% BE a0

12| 17 8411273584 | 7056 | a5 uus |74 oq THI- fﬁlzu /l
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Prot:luce a scatter plot. _ e

Cal&ulate the Pearson Correlation Coefficient. f\-n —O q og
Determme the equation of the regression line. y 314l + —0.0019F x
Based on the regression line, calculate predicted Bourbon sales and residuals.

' imate. SSE=S14.07 Se=7.17
Calculate the sum of squares error and the standard error of the estimate. SSE=2L.U =e= /
Calﬂ;thlate the coefficient of determination. =, 00! &

Assume the liquor store manager has never taken a course in statistics. How would you describe

f_irg_lggggs_hip between beer sales and bourbon sales?
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